Time: 2.00 Hours] Max Marks: 50
{l2Ael Usmiedl] AU d A T
1. 2 % 2l
2. vt [ ™
3. 2240 U (A, 24121 ULss<l AHAAL AHA,
4. ? t5120eHS VAUAS AU VA ASIRIHS 2UAS 2443+
5. Hidldl HeAadlL vizd 92 ¢ A [ &l
6. Hidledl las dUAALAL v 2], U 7,
7. ulRad<dln AiEd @iyl [au 2usla-dl Heesdl aHmal.

B.A. Sem-I111
Elective - 201: Economics
Principles of Economics-01 (New Cour se)

r 1}

14

14

14

14

14

14

14

14



4122, [Aseu uie 52l vl syaal g, ( ) 08
1. S

«C . )
2. AWML LA 2UAS 21U 52dAL HAZD U e

( U . M ,)

3.

( ; )
4. 58 4[R0lBL HeTH S &9 1R HHIA AL oo

( . f )
5 € H

X & Y A )
6. - H

( Y & )
7 B e

( 2 : 3 )

8 AXl &



B.A. Sem-I 11
Elective - 201: Economics
Principles of Economics-01 (New Course)

Time: 2.00 Hours] Max Marks: 50
Section -I
Attempt any three of the following questions.

1. What ispriceline? Explain the change in location and slope of the

priceline. 14
2. Explainthe of law of demand on the basis of utility method. 14
3. Explainthe consumer equilibrium by method of indifferent curve. 14

4. What isincome effect? Explain the positive income effect and negative
iIncome effect. 14

5. What iseasticity of demand? Explain the factors affecting elasticity of

demand. 14
6. Giveameaning of income elasticity of demand? Explain its types. 14
7. Explainthelaw of variable proportion using a diagram. 14

8. Explainin details of long-run production function. 14



Section - 11

Fill in the blanks by choosing the correct option: (Any four) 08
(1) Generaly income effectis...............

( positive, negative)
(2) Generally substitute effect ................... Income effect.

(isless dominant than, is more dominant that )

(3) Marginal unit means ................

(extraunit, first unit)
(4)  When the total utility is maximum the marginal utility .........

( are negative, are zero)
(5  Perfect easticity demand curveis .................

(pardlel to X-axis, paralel to Y-axis)

(6) Inzero income elasticity demand the demand curve s ...............

(positive, paralle to Y-axis)
(7)  Ineconomics long runrefersto ...............

(all factors are variable, only one factor variable)

(8) The third phase of returns of scale means.................

(diminishing returns, increasing returns)



